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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8

9)

This question paper contains 34 questions. All questions are

compulsory.

This question paper is divided into two Parts : Part — A and Part — B.

Part - A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted in Part — B.

Question numbers 1 to 16 and 27 to 30 carry 1 mark each.

Question numbers 17 to 20, 31 and 32 are short answer type questions.

Each carries 3 marks.

Question numbers 21, 22 and 33 are long answer type-I questions. Each

carries 4 marks.

Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.
There 1s no overall choice. However, an internal choice has been

provided in 7 questions of one mark, 2 questions of three marks,

1 question of four marks and 2 questions of six marks.
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1.

T -
(@rsierl wat qeun s % e dwme)

AR (A) : TR ®H H ATigRi bl fsft Trafy =1 IwiT W & Ol ST YT S
& fau fera s geRar 2 |

HRT (R) : F¥ o AT o ToTC FTRIERI <l ¢l Hifd gt 2 |

FrafaRea @ 9 w2 foespea =1 === Fifve

(A) ST ARHUA (A) IR HROT (R) T & AT SRV (R), 31U (A) HIHE I0H 2 |

(B) M1 AMHUA (A) T SRV (R) T & W R (R), 3o (A) T T 9
T

(C) AR (A) 39 8, T S (R) T 2 |

(D) AR (A) T 7, W] ST (R) 36 2 |

ae fafieg = mmfa kIfie 6t T 28,60,000 1 fafay il 1 s fham |

YA T 100 Tk o U1 g 3790 /IR o 10% Sftem W fifia sk fopem mom |

Torafe fafiree ot frifira fepu o 37t /91l <At wee of -

(A) 28,000 (B) 31,778

(C) 28,600 (D) 26,000

(a) fefa, gepfa qem fifa ameer of 9em 2 : 2 : 1 % 39 § o siedt of | 30 5,
2023 %I ghld H TF & TS | 31 A, 2023 hHl GU §C I HI g AN
% 4,50,000 @ | Ife Jd HIIER o 9 < WHT hl T fset au & @19 % U
T S, A Ghfd ok Goft @it S kY S et s & ufsr g

(A) % 90,000 (B) % 45,000
(C) % 1,80,000 D) % 1,12,500
GECH)

(b) T TTISH e sl H & forere 1 afshan o et & e fagera fomar mam |
e fetw 3@ 2 75,000 & wifefes i st € 8 | vaq foees == o 98
H o foTC Tgga &1 T | 999 g € 60,000 % arifeeh ferered =R &1 Y
ToRe TR | T <k USh T | ST TR ST
(A) 75,000 (B) 60,000
(C) 15,000 (D) 10,000
gftar ferfires = W =t fifia € 10 I 3 100 3791 /3R o1, T8 3 2 wf a7r/3mr
o Siftrem o feifia fopam o o qen fom W 2 8 9 T 9, T 5 uia 3mw1/3eR (fiftem
gfgd) <t SATE TN T P Tal i T W (forfeit) o | T 2 ufa 71/ H
U9 wd Afcw IreAr /it @ T8 off | 3 9 70 71/ H1 39 w10 Wi
I /AW, T 8 A1 o sget G- A ot fearm R | g fee o g srfeeny o

(A) %500 (B) %400
(C) %350 (D) %300
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PART -A
(Accounting for Partnership Firms and Companies)

1. Assertion (A) : In partnership firm, the private assets of the partners
can also be used to pay off the firm’s debts.

Reason (R) : The liability of the partners for acts of the firm is limited.
Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is false, but Reason (R) is true.
(D) Assertion (A) is true, but Reason (R) is false. 1

2.  Kewal Ltd. purchased sundry assets from Ganpati Ltd. for ¥ 28,60,000.
The amount was paid by issuing fully paid shares of ¥ 100 each issued at a
premium of 10%. The number of shares issued to Ganpati Ltd. were :

(A) 28,000 (B) 31,778
(C) 28,600 (D) 26,000 1

3. (a) Aditi, Sukriti and Niti were partners sharing profits in the ratio of
2 : 2 : 1. Sukriti died on 30th June, 2023. Net profit for the year ended
31st March, 2023 was ¥ 4,50,000. If the deceased partner’s share of
profit is to be calculated on the basis of previous year’s profit, the
amount of profit credited to Sukriti’s Capital Account will be :

(A) % 90,000 (B) % 45,000
(C) % 1,80,000 D) % 1,12,500 1
OR

(b) Pawan, a partner was appointed to look after the process of
dissolution of firm for which he was allowed a remuneration of
T 75,000. Pawan agreed to bear the dissolution expenses. Actual
dissolution expenses ¥ 60,000 were paid by Pawan. Pawan’s capital
account will be credited by :
(A) 75,000 (B) 60,000
(C) 15,000 (D) 10,000 1

4. Sarita Ltd. forfeited 100 shares of ¥ 10 each, ¥ 8 called up issued at a
premium of ¥ 2 per share to Ramesh for non-payment of allotment money
of ¥ 5 per share (including premium). The first and final call of ¥ 2 per
share was not made. Out of these 70 shares were reissued to Ashok as T 8
called up for % 10 per share. The gain on reissue will be :
(A) %500 (B) %400
(C) %350 (D) %300 1
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5. (a) Tdgan aur wfoar arger off qem 3 : 2 % 39uTd § ey -1 aiedt off | 3eht wrh
GSit T % 1,50,000 T4 % 2,00,000 & | AEEH Hor@ H YT W 8% a1ie &
T S 1 ETH & | 31 T, 2023 bl GHIC 8 aTct 99 b 7€ % 1 I[g o1y
% 21,000 o | fifgam aem sfaar 3 45 @rdl 8§ Str <t 9T areft ISt W S
Tfer g
(A) A T 12,000 71 16,000
(B) ®ST: ¥ 10,500 741 % 10,500
(C) A ¥ 9,000 1 T 12,000
(D) E: T 16,000 T4 X 5,000
3T
(b) TR AT BMYAT Ueh HH <hl HreieR off | fereht 3 o & R0F Uodeh fommdt & a1 0
% 9,000 1 3TTEWT foRalT | 6% aTfieh € & feht & 3T W Wi feham ST

TAT ST BT
(A) T 540 B) 2,160
(C) 1,080 (D) %810

6. U HISGRI Y o foeed WX TG Uk TGN hl 3T | WA g FEcll ST o1 A fepa
AT 8, o UE =1 ol (ieiigd 3 & fopd @Td | m femam St
(A) =gef @ (B) ©TEER %1 ISft @i
(C) TSGR 1 RV Tl (D) S @

7. 3 YT B Ush WY < HIEIGR & AT 3 : 2 h AT H A -1 1 fI9TeH hd o |
1 31, 2023 § 3 A I S-SR died & foIw ggaa g | 56t fafer =61 wd 6
TATfG T GeAiehd ¥ 3,00,000 Forarm o1 | @fer @t @it foT, @i o ei@iend o forg
FTETeh UsHTH=T fafse grft -

Date Dr. Cr.
92023 Particulars Am((;)unt Am(;))unt
(A) 314, 1 Ty 1 GSft @ qm | 30,000
390 o6 IS @ § 30,000
(B) 314, 1 3917 T YSit @t Tm | 30,000
Ty o6 ISft @ § 30,000
(C) 314, 1 Ty 1 it @ qm 3,000
390 o6 ISf @ § 3,000
(D) 314, 1 3911 o1 USfl et EiL] 3,000
Ty o6 ISt @ § 3,000
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5. (a) Ridhima and Kavita were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were ¥ 1,50,000 and % 2,00,000
respectively. The partnership deed provides for interest on capital @

8% p.a. The net profit of the firm for the year ended 31st March, 2023
amounted to ¥ 21,000. The amount of interest on capital credited to
the capital accounts of Ridhima and Kavita will be :
(A) T 12,000 and ¥ 16,000 respectively.
(B) 10,500 and ¥ 10,500 respectively.
(C) T9,000 and T 12,000 respectively.
(D) 16,000 and ¥ 5,000 respectively. 1
OR
(b) Ruchika and Harshita were partners in a firm. Ruchika had
withdrawn T 9,000 at the end of each quarter, throughout the year.
The interest to be charged on Ruchika’s drawings at 6% p.a. will be :
(A) T 540 (B) 2,160
(C) 1,080 (D) %810 1

6. On dissolution of a partnership firm, if realisation expenses are paid by
the firm on behalf of a partner, then such expenses are debited to which of
the following account :

(A) Realisation Account (B) Partner’s Capital Account
(C) Partner’s Loan Account (D) Bank Account 1

7. Isha and Manish were partners in a firm sharing profits and losses in the
ratio of 3 : 2. With effect from 1st April, 2023, they agreed to share profits
equally. On this date the goodwill of the firm was valued at ¥ 3,00,000.
The necessary journal entry for the treatment of goodwill without opening
Goodwill Account will be :

Date Dr. Cr.
2023 Particulars Amount | Amount
®) ®)
(A) April, 1 | Manish’s Capital Alc. Dr. | 30,000
To Isha’s Capital Alc. 30,000
(B) April, 1 | Isha’s Capital Alc. Dr. | 30,000
To Manish’s Capital Alc. 30,000
(C) April, 1 | Manish’s Capital Alc. Dr. 3,000
To Isha’s Capital Alc. 3,000
(D) April, 1 | Isha’s Capital Alc. Dr. 3,000
To Manish’s Capital A/c. 3,000 1
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8. (a) 3Wa fafRE T 100 Y= & 10,000, 9% FOTHEAT 1 FTHT 5% Sfeem w o,
IRT N 10% i 9T v & | skorae ffae g1 @rd o Jm9aer | @a 6

ElRUi
(A) % 10,00,000 (B) % 1,00,000
(C) % 1,50,000 (D) % 1,05,000
GO
(b) =9 fAfE 3T 100 T & 8,000, 11% RO T 5% SfeEg w Fig= feram |
Teh o o 1T ShoTet ou SISt o et T gt
(A) % 80,000 (B) % 92,400
(C) % 88,000 (D) %880

9. (a) fd, T T ffy weer of 9ur 3 : 2 : 1 % g9 # oW stedt off | ffy
AT B T | 3Heh! T @t fafy T, wH o e foawor § seemrl afigld
%Y % 1,50,000 o7 | AW @Rgfd g@T % 1,20,000 41 | #i4 % 46 @ |
et erfergfe shry S femert Trfdr s i smeft 2

(A) % 30,000 (B) % 10,000
(C) % 5,000 (D) % 15,000
GECH)

(b) fga, fea qen Hifed U W o ATRER 9 qAUT 3 : 2 : 1 o FIITd H 1} i
fourem #@ & | Aifed SefigT & T | weE qun iR o e %
TR o foTT STE9aIeh THIISHI ol i <h 9T 35 Yoil @Td | T 1,80,000
T I o7 | Tfgd 3TN 3fea 35 g o o1 I § 38 T 2,00,000 HT PTAH B
o foTu wrgma 21 TTe | wH Al @l § Hifed o1 Wi o
(A) % 1,80,000 (B) % 2,00,000
(C) % 40,000 (D) % 20,000

10. fEReE (A) : wfavfd it 1 S wemft afemfai S fosht . gn areft &1 i

AufeTRgd s o foTu & foma ST HehaT B |

SR (R) : wfasfa St o1 3u=nt shaet st stferfem, 2013 o feu e 38w o forg
B fope ST HepaT 2 |

frafafiaa 94 9 w2 faereq 1 == hifvw

(A) ﬂﬁgm(A)WW(R)aﬁﬂﬁ%‘WW(R), HWHYA (A) T HE BT
TR 3 |

(B) AMIHUA (A) AT HRT (R) ST &l & G BRI (R), HIUHAT (A) T & SR 7 |

(C) 3R (A) 9T HRT (R) SHT 3 E |

(D) AR (A) 39 8, T SR (R) T 2 |
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8. (a) Aarav Ltd. issued 10,000, 9% debentures of ¥ 100 each at a premium
of 5%, redeemable at a premium of 10%. Loss on issue of debentures
account will be debited by :

(A) % 10,00,000 (B) % 1,00,000
(C) % 1,50,000 (D) % 1,05,000 1
OR

(b) Dove Ltd. issued 8,000, 11% debentures of ¥ 100 each at a premium of
5%. The total amount of interest on Debentures for one year will be :
(A) 80,000 (B) 92,400
(C) 188,000 (D) %880 1

9. (a) Kuiti, Hina and Nidhi were partners sharing profits in the ratioof 3: 2 : 1.
Nidhi retired. On the date of her retirement, Workmen Compensation
Fund stood in the Balance Sheet at % 1,50,000. Workmen Compensation
Claim was % 1,20,000. How much amount of Workmen Compensation
Fund will be credited to Nidhi's Capital Account ?

(A) % 30,000 (B) % 10,000
(C) % 5,000 (D) % 15,000 1
OR

(b) Rohit, Udit and Mohit were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Mohit retired. The balance in his capital account
after making the necessary adjustments on account of reserves and
revaluation of assets and liabilities was ¥ 1,80,000. Rohit and Udit
agreed to pay him ¥ 2,00,000 in full settlement of his claim. Mohit’s
share of goodwill in the firm was

(A) % 1,80,000 (B) % 2,00,000
(C) % 40,000 (D) % 20,000 1

10. Assertion (A) : Securities Premium cannot be utilized for writing off loss
on sale of a fixed asset.

Reason (R) : Securities Premium can be applied only for the purposes
mentioned in the Companies Act, 2013.
Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct reason of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct reason of Assertion (A).

(C) Both Assertion (A) and Reason (R) are false.
(D) Assertion (A) is false, but Reason (R) is true. 1
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11.

12.

13.

14.

15.

16.

AT, TE qu i weh Wi o STSie € A1 6 ¢ 4 ;1% U W -8 siedt 8 | W
3 Tt =61 % 50,000 &9 61 TR G 7 | 31 HIE, 2023 I FHG g I h [T g AW
% 1,10,000 1 | firf =1 T <At TR ¢ o S1¢ ®H o 1 T TR T 9T &7

(A) 20,000 (B) 60,000

(C) 40,000 (D) 10,000

e reufes wftfefa ufew aem w7 g 12 a1 13 & S i

<hyra qUT fEdsT ATHER § U1 3 : 2 % IU § A9-g7IH sied 8 | 31 9, 2023
%I T 15,000 T T T AT e b T 3! ISit ShAT: T 55,000 TAT T 45,000 ff |
¥ o SR herd T T Fid-Tommdt & 3Ry & 2 1,500 o1 @ f&aw 3 1 Tawy,
2022 %1 T 9,000 T JTET0T fohaT |

FT @I IR T o S1¢ I8 7 g7 b 5% aTTeh & & Usfl TS ¢ a1 8%
Tk gL T STTET0T U ST YT Shid Sl &I | T2 W& TR |

ShITe hT STRITTE it off
(A) % 35,000 (B) % 39,000
(C) % 43,000 D) % 52,000

fedwr o 3METr W gHTia <hl ST areft s=3Tst <ht Tidt gt
(A) %225 (B) 4,500
(C) %300 (D) % 17,200

Teh HISIEH! A o 45 WISl 8 | 98 IS § 7 3R "rEier] shi Yo &A1 <Tad & | e

Jrf¥faRm, 2013 % IR S 3R TTe <l WH H Jom fean ST gehar 2§ |
A 1 B) 6

€ 5 (D) 3

%, @ AT T Teh HH oh HISIGR & q2 5 § Z % ITAIG § AT Sied o |tﬁﬁﬁ T
o foTQ = <l waiwT fe@m 7RI | 77 379 Tt ST <hl SHTC TamT | =121 oy ferare agcrm‘@ﬂ

(A 12:8:5:5 B) 21:14:18:12

C) 21:14:15:10 D) 2:2:1:1

(a) 3fe T (Forfeit) fopu mTu @vft 37wt /St <1 g7 Frte o6t femm mmam B, 3fwr/3mR
FSURCIG] (Forfeited account) T gfe his T STeh! & I 3H BT fohdT ST & -

(A) W HeF @Td | (B) wfayfa siftem @ra &
(C) T Tww @ | (D) -1 foemor 4
GO
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11.

12.

13.

14.

15.

16.
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Mahi, Ruhi and Ginni are partners in a firm sharing profits and losses in
the ratio of 6 : 4 : 1. Mahi guaranteed a profit of ¥ 50,000 to Ginni. Net
profit for the year ending 31st March, 2023 was % 1,10,000. Mahi’s share in
the profit of the firm after giving guaranteed amount to Ginni will be :

(A) 20,000 (B) % 60,000

(C) % 40,000 (D) % 10,000

Read the following hypothetical situation and answer question numbers
12 and 13 :

Keshav and Hitesh are partners sharing profits and losses in the
ratio of 3 : 2. On 31st March, 2023 after division of profit of ¥ 15,000, their
capitals were T 55,000 and T 45,000 respectively. During the year
Keshav’'s drawings were % 1,500 at the beginning of each quarter and
Hitesh withdrew % 9,000 on 1st November, 2022.

After the final accounts have been prepared, it was discovered that
interest on capital @ 5% p.a. and interest on drawings @ 8% p.a. have not
been taken into consideration.

Opening capital of Keshav was :

(A) 35,000 (B) 39,000

(C) % 43,000 (D) % 52,000

Amount of interest to be charged on Hitesh’s drawings will be :

(A) 225 (B) 4,500

(C) %300 (D) % 7,200

A partnership firm has 45 partners. It wants to admit 7 more partners
into partnership. Only __ more partners can be admitted in the
partnership firm according to Companies Act, 2013.

A 1 B) 6

€ 5 D) 3

A, B and C were partners in a firm sharing profits and losses in the ratio

1 11 . } . 1 ) )
of 9:3°%4" D was admitted in the firm for 6 th share. C would retain his

original share. The new profit sharing ratio will be :
(A 12:8:5:5 B) 21:14:18:12
C©) 21:14:15:10 D) 2:2:1:1
(a) If all the forfeited shares are reissued, the balance, if any, left in the
Forfeited Shares Account is transferred to :
(A) General Reserve Account
(B) Securities Premium Account
(C) Capital Reserve Account
(D) Statement of Profit and Loss
OR




(b) Tua fdAfies 9 T 10 I & 100 3190 /340 1, et i 20% fiftem
Toparm T o, % 3 ufd 3TT/3RR B TUH JrEET qor % 1 Ui 39/ i 3ifew
T 1 YTAH a1 i W (Forfeit)  fora | =maw gor wid 371 /3er |
TR S 30 /S BT AT fema ST wekan &, &

(A) T4 B) %6
(C) T8 M) %10

17.  mam, Toem o feaa v % 0 AreigR 9 @ 20 2 ¢ 1 % 31U § ArY-g1 &1 faarse
A I | Ieh! TR ISl A € 2,00,000, % 1,50,000 AT % 1,00,000 ot | STSERT
T § 10% a1fieh g0 & Yt T &1 S 1 e o7 | 31 W, 2023 Wi qET &
el a9 H YSht T AT fou foT e o @i ot steam Rt fe R | o1y o Sied s
o foTu STTaveres guTIeH sk glefse Hiflvw |

18. (a) Bfa fafiee = et fetfiee @ wefimd o1 s foma | o8 wemfa 58 T o wfawat &
YA T 10 I e 10,000 THAT 330 1 10% Hfeem o qur T 50,000 1 s
e Frifera oheeh fema e |
B fafiee 61 qehi § T T¢I o ToTT 3ATavarsh Usire=n yiafeat sife |
e
(b) 1 ISR, 2022 w1 T fetfiee 9 T 100 T=™6 6 4,000, 8% AT I FHiTH
10% i T fopamm | 5t feifer <t sheaeft o6 wifenegfor sffirem @md ® 2 50,000 1 31 o7 |
FOTHAT o o qen ot & i w oSz Y i e smfefed s % foe
I U= Tfafeest i |

19. (a) W, W qYUT TS Ueh HH o HIHER 9 GAT 5 : 3 : 2 o FJUMG § o1y sied o |
1 YA, 2023 H 328 AT 1 SUE-SUsR died 1 Fuig for=m | 39 fafy =1
I E= 1 T 3,60,000 T I T 9UT AN -1 @id | T 1,80,000 T 719 I
T | Y o FoTT o1 fovTo 31T B Ufta < ShivT Ueh THRISH Hfafe i |

GO
(b) T, 7%, AT qAT T Teh Y o ATRGR A AT 2 : 2 : 2 : 1 T § @Y died
& | 31 SHad, 2023 1 | HaTHgd & T4 | i hi FaT-egi T wH 6l @i 1
e % 1,40,000 fopam mom | o, e A AT K W= 5: 1 : 1 % AT AW
o 3ruTa <6t TEufd g8 |
3199 R I Tl | T §U, WY <l Jedehl H ST @IaT @iel foeT @f &
G hl ATITTh UsHHET Yfafse I |
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(b) Raghav Ltd. forfeited 100 shares of ¥ 10 each issued at a premium of
20% for non-payment of first call of ¥ 3 per share and final call of T 1
per share. The minimum price per share at which these shares can
be reissued will be :

A) 4 B) T6
(C) %8 D) %10 1

17. Asha, Nisha and Hiten were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Their fixed capitals were T 2,00,000, ¥ 1,50,000 and
% 1,00,000 respectively. The partnership deed provided for interest on
capital @ 10% p.a. For the year ended 31st March, 2023, profits of the firm
were distributed without providing interest on capital. Pass the necessary
adjusting Journal entry to rectify the error. 3

18. (a) Chavi Ltd. purchased machinery from Neo Ltd. It was agreed that
the purchase consideration will be paid by issuing 10,000 equity
shares of ¥ 10 each at a premium of 10% and a bank draft of ¥ 50,000.

Pass the necessary Journal entries in the books of Chavi Ltd. for the
above transactions. 3

OR

(b) Omn 1st October, 2022 Ninza Ltd. issued 4,000, 8% Debentures of ¥ 100
each at a discount of 10%. The company had a balance of ¥ 50,000 in
Securities Premium Account on the same date.

Pass necessary Journal entries for issue of debentures and to write
off discount on issue of debentures. 3

19. (a) Mahesh, Ramesh and Naresh were partners in a firm sharing profits
in the ratio of 5 : 3 : 2. From 1st April, 2023, they decided to share
profits equally. On that date, there was a balance of ¥ 3,60,000 in
General Reserve and a debit balance of ¥ 1,80,000 in the Profit and
Loss Account. Pass single adjustment Journal entry for the above on
account of change in the profit sharing ratio. 3

OR

(b) Ravi, Guru, Mani and Sonu were partners in a firm sharing profits
in the ratio of the 2 : 2: 2 : 1. On 31st January, 2023, Sonu retired. On
Sonu’s retirement the Goodwill of the firm was valued at T 1,40,000.
The new profit sharing ratio among Ravi, Guru and Mani was agreed
as 5 :1: 1. Showing your workings clearly, pass necessary Journal
entry for the treatment of Goodwill in the books of the firm on Sonu’s
retirement without opening goodwill account. 3
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20. TS IE™ fusel F® a6 ¥ T 4,00,000 T 30Gd o9 31T B @ AT | 35 THR
FEE T Ffahel Sl THI X 10% & | HGEr hl THEr i Td qAdTsTi sl god shus:
% 20,00,000 71 % 5,00,000 o1 | ey fafyr gra wed <6t @nfa <6 qoa i o
Shifore, afe gHeht Yeareh STl % S IS o 5 o SR W FaT AT 2 | 3
21. WY, Tod TU1 I Toh HH § HIBIGR 9 G207 3 : 1 : 1 % I7JUTd § AT9-gTH i fawrsq
L A | 31 T, 2023 i 3enT e fawor f wehm o -
31 9T, 2023 %I °TeE, e a2 g o1 et faawor

e W et | O

® ®
TER 1,00,000 | 20,000
= 999 50,000 | &k 1,10,000
it fafrem 70,000
mygd 60,000 iy 35,000
Tag 1,00,000 o 1,15,000

bci 40,000 | 2,00,000

3,50,000 3,50,000

30 FawsR, 2023 1 T8 61 GJ 81 T8 | ATHIGR] ToRg o STFHR 38h I AR

Frforfga & srfereerd g -

(i) 3Feh Usll WA 1 I |

(i) @™ § gg h Ty 7k Iqeh1 W, TEeht T fUsel Iy o @19 % YR 9 hH
ST |

(iii) ATd T 3HehT 9T, FSTEeh! TUHT fU=el IR aut o 3f9d o1 & i o91 o T &
SATER 9L h! AT |

(iv) 12% Sfd od 61 & Eft WA |
T 1 AT H 9T 3,000 T 7T fIsel IR a§i w1 3{Ed @v % 50,000 o1 | g

hi feifer @eh 9& 1 37M=wT 10,000 T |

T o ST STAUTIRINT bl T i o foTT T& T ISft @IaT IR HIfT | 4

22. 1 3, 2023 B T 10 T&H & 2,00,000 FHT 3730 /350 § fasyerd T 20,00,000 i
3TfreRd i <k |1 WA fAfHeS T e T T | a4 1,80,000 HHAT 37911 /31
o Totee o ToTu 3treed StmbE T | Pt 61 1,70,000 FHaT 3311 /IR o T 31rees
T g | Yo oy § ¥ 8 Wi 3791/3RR | T qe 3 2 Wi 3797 /30R i Sifaw am andt
T & TS 1 2,000 370 /IRRT T G AT qAT 4,000 I/ IR HT G =TT T 2
e 3791/ T T AT BT T &1 fohaT | T T o vt R aen o= <6
uft 37911 /3= b1 &7 (forfeit) T form T |
st rfafem, 2013 i SFEA-II1, 9F-1 o SFFER, 397/ St 1 @fa
ferfires o feufa foawn & wega hifse aen @i & Ficd’ ot aar i | 4
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20. A business earned an average profit of ¥ 4,00,000 during the last few

21.

22.
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years. The normal rate of profit in the similar type of business is 10%. The
value of assets and liabilities of the business were ¥ 20,00,000 and
% 5,00,000 respectively. Calculate the value of goodwill of the firm by
Super Profits Method if it is valued at 2 years purchase of super profit.

Madhav, Raghav and Purav were partners in a firm sharing profits and
losses in the ratio of 3 : 1 : 1. Their Balance Sheet as at 31st March, 2023
was as follows :
Balance Sheet of Madhav, Raghav and Purav
as at 31st March, 2023

. e1ees Amount Amount
Liabilities ®) Assets ®)

Creditors 1,00,000 | Bank 20,000
General Reserve 50,000 | Stock 1,10,000
Capitals : Investment 70,000
Madhav 60,000 Furniture 35,000
Raghav 1,00,000 Building 1,15,000

Purav 40,000 2,00,000
3,50,000 3,50,000

Purav died on 30th September, 2023. According to Partnership deed, his

legal representatives are entitled to the following :

(1) Balance in his Capital Account.

(1) Share of profit upto the date of death to be calculated on the basis of
last year’s profit.

(111) Share of goodwill calculated on the basis of three years purchase of
average profits of last four years.

(1v) Interest on capital @ 12% p.a.
Purav’s share of profit was ¥ 3,000 and the average profit of last four

years were T 50,000. Purav’s drawings upto the date of death were ¥ 10,000.
Prepare Purav's Capital Account to be rendered to his legal

representatives.

On 1st April 2023, Khyati Ltd. was formed with an authorised capital of
% 20,00,000 divided into 2,00,000 equity shares of ¥ 10 each. The company
invited applications for issuing 1,80,000 equity shares. The company
received applications for 1,70,000 equity shares. During the first year, ¥ 8
per share were called and final call of ¥ 2 per share has not been made
yet. Siya holding 2,000 shares and Piya holding 4,000 shares did not pay
the first call of ¥ 2 per share. All the shares of Siya and Piya were
forfeited after the first call.

Present the share capital in the Balance Sheet of Khyati Ltd. as per
Schedule III, Part I of Companies Act, 2013 and also prepare ‘Notes to
Accounts’ for the same.




23. (a) YU fafiees 3 2 10 Y% & 80,000 THAT 370 /I T T 4 T 397/3IRR &

24.

(b)

(a)

fiftem w frifia @ & fou smae smifa feee | wfa s7er/3eR Tf¥n w1 e
A ypRA T o1 : T 5 — 3MEed Wadr T 9 (iftem afEd) e w |
1,40,000 37911 /3RRG o6 T 3Teed wed §¢ a°1 Ot Seienfii /SeREiced i
TR ST 9T 37911 /IR T HATee o e T |
3T W YraE i 8 fafier Ufdt 1 TEESE e W fdt § o forn
T | e W < |{fi T T B TS A THR I Bige, T 1,400
JAM /AT o ToTT 3Tele fomam o | 35 37911 /3= b1 &7 (forfeit) T foram mmam |
T fafieg 6t gl H U oiH-¢HT 1 oi@l i o T 3Tawdes TstHme=
gferfseat Shifsre | & oY 3Tevges 81 37 Ir=-T @TdT GifeTu |
T

a1 feAfies 3 T 10 T o 30,000 30/ i T 2 Tfd 3791/3% & Hiemw
R ifia st 2 3TTded mEha fohe, | Uit o1 yram e Jehr 8 o o

TSI qUT e W T 7 T 3797/ 3R

T qAT ATeq I W T 5 Gy T 2 gfea) ufa 3391 /37R
33,000 37T /3R < folu 3TEed oI T | el 4 3,000 3790 /3= % ferw
JTSIEAT ol T8 L feaT TUT 3TTagehi ol TR ST LS | 30,000 37T /IR i oI
w9 H TR T foam T |
AT YT 3Tee U ferferera yred 81 718 | 99w qen 3ifa| aremn [ oft 18 qen
500 33T/ o Teh YT hl BlShl TUH qAT 3fdH Ir=-T I & T8 | 3Hh
7T /3T 1 BT (forfeit) T foram 7 | 37 Gt 37211 /3140 &l T 8 Wil 3737/3—R
ot yea g fifia ot femm i |

e fafie 6 qeaehl § ITUE oiF—¢Al hl 3Taveeh UsHTH= Jfafsesr
Hifore | ST&t off 3Tavges 81 37ed I Gidl @ifeT |
e, et a1 Bfa ARER & A1 3 ;2 ;1 % UM H AY-gIH §fed o |
31 9T, 2023 i 3k el ferewor fi yehr o -

31 9, 2023 T g, W qun sfy w1 feufy faawon

ot ww ot a

R) ®)

it BEERCENICH 3,00,000

IHg 1,80,000 HeeR 20,000
et 1,60,000 TIER 3,50,000

Bfa 1,00,000 | 4,40,000 | =127 : Efee kol <

IGE A E 2,50,000 fwyEa™ 20,000 | 3,30,000

Uehg B 10,000

KB AIERCII] 30,000

6,90,000 6,90,000
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23.

24.

(a)

(b)

(a)

Murari Ltd. invited applications for issuing 80,000 equity shares of
% 10 each at a premium of ¥ 4 per share. The amount per share was
payable as follows : ¥ 5 on application and ¥ 9 (including premium)
on allotment.
Applications were received for 1,40,000 shares and allotment was
made on pro-rata basis to all the applicants. Money overpaid on
application was utilised towards sums due on allotment.
The allotment money was duly received except from Sameer who had
applied for 1,400 shares. His shares were forfeited.
Pass the necessary journal entries in the books of Murari Ltd. to
record the above transactions. Open calls-in-arrears account
wherever required.
OR
Kavya Ltd. invited applications for issuing 30,000 shares of ¥ 10 each
at a premium of ¥ 2 per share. The amount was payable as follows :
On application and allotment T 7 per share
On first and final call % 5 per share (including ¥ 2 premium)

Applications were received for 33,000 shares. Applications for 3,000
shares were rejected and money returned to the applicants.
Applications for 30,000 shares were accepted in full.
The application and allotment money was duly received. The first
and final call was made and money received except from a
shareholder holding 500 shares. His shares were forfeited. All these
shares were re-issued to Kartik as fully paid for % 8 per share.

Pass necessary journal entries for the above transactions in the
books of Kavya Ltd. Open calls-in-arrears account wherever required.

Arnav, Bhavi and Chavi were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. On 31st March, 2023, their Balance
Sheet was as follows :

Balance Sheet of Arnav, Bhavi and Chavi as at 31stMarch, 2023

ey A A
Liabilities mount Assets mount

® ®

Capitals :
Arnav 1,80,000
Bhavi 1,60,000
Chavi 1,00,000

Creditors

4,40,000
2,50,000

6,90,000

Plant & Machinery
Furniture
Debtors 3,50,000
Less : Provision for

doubtful debts _ 20,000
Cash in hand
Profit and Loss Account

3,00,000
20,000

3,30,000
10,000
30,000

6,90,000
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Iy forfr sh1 sfer Jaie &1 77 | o% weAid g8 b -

()

T TUT T BT Geaiiehd 3 4,30,000 fora SRR |

(i) Efee T & oM Tae™ 1 50% S =T SIRAT |
(iii) @l T Bf o 9T T Gedtehd 3 80,000 foham T qer @fa @t @iet form
3T TG TehT ST |
(iv) BT I PaE 6 TH areft et TRT ST a>T 9Tet 6 ThR AR foh IThT
it 3ok AT AT TI9ToH Ut § &1 I |
YT GTAT qT |TSIERI o Yoil W oI shifer |

(b)

YT

fee qen ushar ush wY <l Freier off T 3 : 1k AT H @y sieat of | 31 7,

2023 ST 38 HH & A § 1/4 9T % 10 T 1 T ¢ ARICR & €9 § Y39
ez | 35 faftr st SRt feufa foemor g yepm o

31 W=, 2023 i fesam qerm wwhar w1 feufa faawor

St a e T
) )
it EKRIRCE| 5,00,000
feam  10,00,000 sl 6,00,000
Thdl _ 7,00,000 | 17,00,000 | ik 1,50,000
T 999 3,20,000 | eer 4,00,000
THER 5,40,000 | =T : Hiewy Fom %
o wrem ~30,000| 3,70,000
IECH 5,00,000
qhg 4,40,000
25,60,000 25,60,000

T T 4,00,000 3791 IS AT 379+ TR 6 9T o6 9 H 1 AT |

g HEHfd g3 b -
¢)

HH i TR BT Geaiehd T 2,40,000 fora T |

(i) ¥ T e T FeAmhd % 7,12,000 Toam 7 |

(i) Eferer T o T graem 2 8,000 | 3Afereh U= T |
(iv) Feri ¥ afffera ¥ 20,000 Y T AT ST PTAM T8l fohaT IR |

(v) Teean qen wehar i St <1 SHRISH ST 31 Ui 3 STER W =Te] @Td Tieet

fopa SR |

e T T e % o W A IR |
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Chavi retired on the above date. It was agreed that :
(1) Plant and Machinery be valued at ¥ 4,30,000.
(1) The existing Provision for Bad Debts was to be increased by 50%.

(111) Chavi’s share of Goodwill was valued at ¥ 80,000 and the same
was to be treated without opening goodwill account.

(1v) The total amount to be paid to Chavi was brought in by Arnav
and Bhavi in such a way as to make their capitals in proportion
to their new profit sharing ratio.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
(b) Divya and Ekta were partners in a firm sharing profits in the ratio of

3 : 1. On 31st March, 2023 they admitted Sona as a new partner for

1/4th share in the profits of the firm. Their Balance Sheet on that

date was as follows :

Balance Sheet of Divya and Ekta as at 31st March, 2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Land and Building 5,00,000

Divya 10,00,000 Machinery 6,00,000

Ekta _ 7,00,000 17,00,000 | Stock 1,50,000
General Reserve 3,20,000 | Debtors 4,00,000

Creditors 5,40,000 | Less : Provision for

doubtful debts 30,000| 3,70,000

Investments 5,00,000

Cash 4,40,000

25,60,000 25,60,000

Sona will bring % 4,00,000 as her capital and her share of goodwill in
cash. It was agreed that :

(1) Goodwill of the firm was valued at T 2,40,000.

(1) Land & Building were valued at % 7,12,000.

(111) Provision for doubtful debts was found to be in excess by ¥ 8,000
(1v) A liability for ¥ 20,000 included in Creditors was not likely to arise.

(v) The capitals of Divya and Ekta will be adjusted on the basis of
Sona’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6
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25. Tafir= aftarafaa (TeRe o Sifafte) T g qet i SIarsti sl agel @Td § SIH=d
T o I 3T qT HEE Al & foged W fmfeRad e-eAt & fore stewesn
s fafeest Hifv :

(i) 3199 T 67,000 % Tk = T 56,000 T of fora |

(i) T GUAT Hrged o1 Forit qeent @ ot &9 9 3mafciRad st feam m on | 98 agae
TR T o 38 % 4,000 hT et g | W T 59 ST 900 | 10% H
R fomm |

(iii) T 7,500 < rferRad ramati i T 5,000 H bl (settled) s feam i |

(iv) 8,000 < e ST 1 YA 9T R foharm 7T |

(v) Trere fmeet sifera e 7 15,000 o1, 3R IgEh 40% & |

(vi) ¥ 24,000 <1 IHEH I 1Y, T qAT THH o S IHeh AT - TIwTS= 39T, S
2 : 1%, § fennfora femam St e |

26. =R fafids i gl § Fefofad yos fefa 3 ot & i | arafa Isam=n
gfafeest Shifs -
i) T 100 I&% % 50,000, 9% FOTHHAT 1 FIH 10% &g R a1 71, SHehT SMeH
A 9L foRan STa |
(i) T 100 9 & 6,000, 9% FOTHAT T T 5% iftrm wr foham =, geht siem
10% Siferrm o femam S |
(iii) ¥ 100 S % 4,000, 10% FOTHAT T FHT Feed TX ferem 2T, SehT TEH 5%
ftrem o fepa e |
i -g
faeea - 1
(Fercir ferareont =t fargetson)
27. =99 form -7 %1 9ioTH Ushs TaTE B 2
(A) & | T 71,000 T TE ATEW |
(B) Tt b fershat bt 2 1,00,000 % 9% FROT9=T bl I |
(C) eTeri & T 74,000 o W |
(D) |1 A | Ui ieh 10% SRTIS b7 SME |

28. (a) vW gt fifies v foxfid oot 8 | o1 W g fRm wmn = Wl
Trtattaa 9 @ ferg TopamenetTa o T=id g STRATT
(A) o fsramepe (B) Terfiam fsramerema
(C) M1 Teafia a2 = Ghaeead (D) S=Tetd fehamehar
YA
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25.

26.

27.

28.
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Pass the necessary journal entries for the following transactions on the
dissolution of the firm of Abhay and Mansi after various assets (other
than cash) and third party liabilities have been transferred to Realisation
Account :

(1) Abhay took over stock worth ¥ 67,000 at ¥ 56,000.

(1) There was an old computer which had been written off completely
from the books. It was estimated to realise ¥ 4,000. It was taken
away by Mansi at the estimated price less 10%.

(111) Unrecorded liabilities of ¥ 7.500 were settled at ¥ 5,000.
(1v) Realisation expenses amounting to ¥ 8,000 were paid by Abhay.
(v) Investment, whose face value was % 15,000, was realized at 40%.

(vi) Profit on realisation ¥ 24,000 was to be distributed between Abhay
and Mansi in their profit sharing ratio which was 2 : 1.

Pass journal entries relating to issue of debentures in the books of Star
Ltd. in each of the following cases :

(1) Issued 50,000, 9% Debentures of ¥ 100 each at a discount of 10%,
redeemable at par.

(11) Issued 6,000, 9% Debentures of ¥ 100 each at a premium of 5%,
redeemable at a premium of 10%.

(111) Issued 4,000, 10% Debentures of ¥ 100 each at par, redeemable at a
premium of 5%.

PART -B
OPTION -1
(Analysis of Financial Statements)

Which of the following transaction will result in flow of cash ?

(A) Cash withdrawn from bank ¥ 71,000.

(B) Issue of 9% debentures of ¥ 1,00,000 to the vendors of Machinery.
(C) Received from debtors % 74,000.

(D) Redeemed 10% debentures by converting into equity shares.

(a) Shyam Sunder Ltd. is a financing company. Under which of the
following activity will the amount of ‘Interest paid on loan’ be shown :

(A) Investing activity
(B) Financing activity
(C) Both Financing & Operating activity
(D) Operating activity
OR




(b) | oo 1-4-2022 | 31-3-2023
HLIEEH 210,000 | 25,000
31 T, 2023 ! T §C ¥ o ot ot P T 15,000 AT | ST AT SFHTUROT

Tfafafee € 96 3¢ AW 6 TUET i & foTe o J1a9™ & SIS ST |
(A) % 30,000 (B) % 25,000
(C) % 10,000 (D) % 15,000
29. fymferiga § 4 s & faxhia faeawon o fageivr shi v deodies 81 2 7
(A) IFTa fogeryor (B) deHTcHe ferator
(C) eI foraron (D) ehg-sere foreon
30. (a) oA IRHERET — ¥ 3,00,000
e uiEmEat - T 2,60,000
T <HATd - ¥ 80,000
FAvrares ffert — ¥ 2,00,000
IR FTT o ST I IUHT FehaT TRIT =16}, 3197 &I -
(A) 05:1 B) 2:1
(C) 15:1 D 1:1
T
(b) TS =Te] I 4 : 1 7, o] giEwaREt € 60,000 G907 a8t 31U 2.5 1 8, @
3oigl (o) <hT TRT BT -
(A) % 22,500 (B) % 37,500
(C) % 15,000 (D) % 25,000

31. et rfufaem, 2013 6t s I, 9 1 % 3R, T wei 61 S @ g i
T 39 -3fehi o =i shraT b Tefer ferawor § s femarm e

(i) P HIFERR

(i) SACTETHd AR

(iii) Gl R

32. Tr=faRad =1 & =] 31guTa <6l UM iR
4

AT 39 /IR G 8,00,000
HITg= (Fih) 1,00,000
IR T 1,20,000
A 24,000
Uehe Td Uehg T 56,000
IR ¢ 60,000
Y- 37afe 3ur (de ferfas) 40,000
10% foersr 80,000
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(b) | Particulars 1-4-2022 31-3-2023
Provision for Tax %10,000 % 25,000

Tax paid during the year ended 315t March, 2023 was ¥ 15,000.

While calculating Net Profit before Tax and Extra ordinary items,

the amount of provision for tax to be added is

(A) 30,000 (B) % 25,000
(C) % 10,000 (D) % 15,000 1
29. Which of the following is not a tool of Analysis of Financial Statements ?
(A) Ratio Analysis (B) Comparative Statement
(C) Statement of Profit & Loss (D) Cash flow Statement 1
30. (a) Total Assets — ¥ 3,00,000
Non-current Assets — $ 2,60,000
Non-current Liabilities — 3 80,000
Shareholders Funds — < 2,00,000
Current ratio calculated on the basis of above information will be :
A 05:1 B 2:1
(C) 15:1 D) 1:1 1
OR

(b) When Current Ratio is 4 : 1, Current Assets are ¥ 60,000 and Quick
Ratio is 2.5 : 1, the amount of ‘Inventory’ will be :
(A) 22,500 (B) 37,500
(C) % 15,000 (D) % 25,000 1

31. Under which major heads and sub-heads will the following items be
placed in the balance sheet of the company as per Schedule III, Part I of
the Companies Act, 2013 :

(1) Computer Software
(11) Unclaimed dividend

(111) Loose Tools 3
32. Calculate current ratio from the following information :
3
Equity share capital 8,00,000
Inventories 1,00,000
Trade Receivables 1,20,000
Advance Tax 24,000
Cash and Cash equivalents 56,000
Trade Payables 60,000
Short term borrowings (Bank overdraft) 40,000
10% Investments 80,000 3
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33. (a)

T TeTcHeh -1 forawor aam i -
Tarar fafies
31 9, 2023 %I GATK §C a9 & foIQ Ar-g1i feraor

Sy 2022-23 2021-22
® ®
ST 3T 32,00,000 | 20,00,000
= : HEAH fadeny 2> 9,60,000 6,00,000
3 = 6,40,000 4,00,000
HLE50% 2 |
37T

31 A, 2023 %I TuT U 9 o fore Rnan fafiee & f=forfaa emv-=rf foamo

(b) Fr=fetad =1 @ 31 A, 2023 o1 TH g 9N o foqu & feifiee qen @ fafice
T T ST AT foreror Far Hife -

ferator & fafees | wfafies
eI 3P () | 20,00,000 | 10,00,000
I AE () 3,00,000 80,000
=T () 10,40,000 |  4,80,000
EXEN 40% 40%

34. Jiffar fafiee & a1 = foew @ FEw Brameramt @ e vag qen ‘foia

TshaTeReTTal | Tehg YT’ <hl TUMT <hIfST | 3799 19l hl T8¢ &Y ¥ 3y |

31 1=, 2023 Jiftrar fafies = fRufa feewor
r— Feg, | 31-3-2023 | 31-3-2022
®) ®)
I. W@W
(1) IR /AR FiemT
(@) 3T ISl /R OSh 4,00,000 | 2,00,000
(@) 99 TG TR 1 2,00,000 | 1,00,000
(2) Fr=e A
() SrelenTefia 38R 2 1,50,000 | 2,20,000
(3) o] A
(%) AU YR 3 1,00,000 -
(@) AT ¢ 70,000 50,000
() B TG 4 50,000 30,000
A 9,70,000 | 6,00,000
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33. (a) From the following Statement of Profit and Loss of Shikha Ltd.,
prepare Comparative Statement of Profit and Loss for the year

ended 31st March, 2023. 4
Shikha Ltd.
Statement of Profit & Loss for the year ended 31st March, 2023
Particulars 2022-23 2021-22
®) ®)
Revenue from operations 32,00,000 20,00,000
Expenses :
Employee benefit expenses 9,60,000 6,00,000
Other expenses 6,40,000 4,00,000

Rate of Tax 1s 50%.
OR

(b) From the following information prepare a Common Size Statement of
Profit and Loss of A Ltd. and B Ltd. for the year ended 31st March,

2023 : 4
Particulars A Ltd. B Ltd.
Revenue from operations (%) 20,00,000 10,00,000
Other income () 3,00,000 80,000
Expenses ) 10,40,000 4,80,000
Tax Rate 40% 40%

34. From the following Balance Sheet of Yogita Ltd., calculate ‘Cash flows
from Investing Activities’ and ‘Cash flows from Financing Activities’.

Show your working properly. 6
Yogita Ltd.
Balance Sheet as at 315t March, 2023
Particulars Note | 31-3-2023 | 31-3-2022
No. ®) ®)
I. Equity and Liabilities :
(1) Shareholders’ Funds
(a) Share Capital 4,00,000 2,00,000
(b) Reserves and Surplus 1 2,00,000 1,00,000
(2) Non-Current Liabilities
(a) Long term borrowings 2 1,50,000 2,20,000
(3) Current Liabilities
(a) Short term borrowings 3 1,00,000 -
(b) Trade payables 70,000 50,000
(¢) Short term provisions 4 50,000 30,000
Total 9,70,000 6,00,000
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II. Assets
(1) Non-Current Assets
(a) Fixed Assets (Property,
plant and equipment and
intangible assets)

(1) Tangible Assets 7,00,000 4,00,000

(Property, plant and equipment) g
(2) Current Assets
(a) Inventories 1,70,000 1,00,000
(b) Trade Receivables 1,00,000 50,000
(¢) Cash & Cash equivalents — 50,000
Total 9,70,000 6,00,000
Notes to Accounts :
Note . 31-3-2023 | 31-3-2022
Particulars
No. 3 3
1. Reserves and Surplus
Balance in statement of Profit & Loss 1,50,000 80,000
General Reserve 50,000 20,000
2,00,000 1,00,000
2. Long term borrowings
10% Bank Loan 1,50,000 2,20,000
1,50,000 2,20,000
3. Short term borrowings
Bank Overdraft 1,00,000 —
1,00,000 -
4. Short term provisions
Provision for tax 50,000 30,000
50,000 30,000
5. Tangible Assets (Property, plant & equipment)
Plant and Machinery 7,90,000 4,70,000
Less : Accumulated depreciation (90,000) (70,000)
7,00,000 4,00,000

Additional Information :

(1) T 50,000 was charged as depreciation on Plant and Machinery.
A machinery costing ¥ 60,000 (Book value ¥ 45,000) was sold for
% 42,000.

(1) Bank loan was repaid on 1st April, 2022.
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29.

30.
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(a)

(b)

“A value or function or an arithmetic expression is recorded in

PART -B
OPTION -11
(Computerised Accounting)

Depreciation is generated from which of the following Accounting
information system ?

(A) Tax accounting sub-system

(B) Expense accounting sub-system

(C) Final accounts sub-system

(D) Fixed assets accounting sub-system
OR

Which type of software package is suitable for an organization where
the volume of accounting transactions is very low and adaptability is
very high ?

(A) Specific (B) Tailored

(C) ERP Software (D) Generic

»

(A) Row (B) Column
(C) Range (D) Cell

(a)

(b)

Which of the following is not a limitation of computerised accounting
system ?
(A) Data may be lost or corrupted due to power interruptions.
(B) Data are prone to hacking.
(C) Data i1s made available to everybody.
(D) Unprogrammed and unspecific reports cannot be generated.
OR

To safeguard assets and optimize the use of resources a business

(A) Only tries to earn sufficient revenue.

(B) Only ensures accuracy in accounting records.
(C) Keeps internal controls.

(D) Only protects its assets.

Which chart has depth axis ?

(A) 2D chart (B) 3D chart
(C) Radar chart (D) Doughnut chart
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8 6 ferspm 75 51 49 175
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3IGehT I T I |

(i) = i3 (fi5, €3 : w10, 2, 0)

(i) =TERANL (FTH3T (&3, 13 : W10, 2, 0) — 100)
(iii) = <iefh3a’ (12, §13 : W10, 5, 0)
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(v) = figep3d’ (sfie, i3 : TH10, 0, 0)
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31. Explain various ‘Data tables’ used in ‘Pivot Table.

32. How can a#DIV/0! error be corrected ?

33. (a) List the points of nomenclature used in Excel for charts/graphs.
OR
(b) Explain the steps to define ‘Print area’ using Dialog box.

34.

Insert Pagelayout Formulas Data Review View

¢ Calibri 111 A A = - EPWrap Text
' B Copy - ' De . i
Pafte ~ Format Painter BIU--19-A- 5 E2iMenge & Cumtar. =
Clipboard 1% Font R Alignment
' B19 e X . Sr
4 A g £ Ly | E e
1 Subjects
S. No - -
2 Name Maths English Science Total
3 1 Ramandeep 57 50 66 173
4» 2 Sahil 88 85 65 238
5 3 Tarannum 38 64 88 190
6" 4 Josheph 55 48 56 159
4 5 Joanna 82 55 65 202
8 6 Vikram 75 51 49 175
9 g Igbal 60 75 59 194
10 8 Heena 70 45 79 194
114

From the given ‘VLOOKUP’ syntax find out the error and its reason using
the worksheet.

(i) = VLOOKUP (B5, C3: F10, 2, 0)

(i) = SQRT (VLOOKUP (B3, B3 : F10, 2, 0) — 100)
(ili) = VLOOKUP (B2, B3 : F10, 5, 0)

(iv) = VLOOKUP (B3, B3 : B10, 2, 0)

(v) = VLOOKUP (B6, B3 : F10, 0, 0)

(vi) = VLOOKUP (B6, B3 : F10, 2, 0)/0
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STRICTLY CONFIDENTIAL: (FOR INTERNAL AND RESTRICTED USE ONLY)
SENIOR SECONDARY SCHOOL EXAMINATION 2024
MARKING SCHEME — ACCOUNTANCY (SUBJECT CODE—055)
(PAPER CODE—67/5/2)

General Instructions: -

1

10
11

12

You are aware that evaluation is the most important process in the actual and correct assessment of the candidates.
A small mistake in evaluation may lead to serious problems which may affect the future of the candidates,
education system and teaching profession. To avoid mistakes, it is requested that before starting evaluation, you
must read and understand the spot evaluation guidelines carefully

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead to
derailment of the examination system and affect the life and future of millions of candidates. Sharing this
policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc may invite
action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according to
one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and religiously
followed. However, while evaluating, answers which are based on latest information or knowledge and/or
are innovative, they may be assessed for their correctness otherwise and due marks be awarded to them.
The Marking scheme carries only suggested value points for the answers.These are in the nature of Guidelines
only and do not constitute the complete answer. The students can have their own expression and if the expression
is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day, to
ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is any
variation, the same should be zero after deliberation and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the marking of individual
evaluators

Evaluators will mark( V') wherever answer is correct. For wrong answer CROSS X" be marked. Evaluators will
not put right (v')while evaluating which gives an impression that answer is correct and no marks are awarded.
This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different parts
of the question should then be totalled up and written in the left-hand margin and encircled. This may be followed
strictly

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may also
be followed strictly

If a student has attempted an extra question, answer of the question deserving more marks should be retained and
the other answer scored out with a note “Extra Question”.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of 80marks as given in Question Paper has to be used. Please do not hesitate to award full marks if the
answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and evaluate
20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are given in
Spot Guidelines)
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Ensure that you do not make the following common types of errors committed by the Examiner in the past:-
Leaving answer or part thereof unassessed in an answer book.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and clearly
indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross (X)
and awarded zero (0) marks

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate
shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in order
to uphold the prestige of all concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot Evaluation”
before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page, correctly
totaled and written in figures and words.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.
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MARKING SCHEME - (67/5/2)

/5
2 ACCOUNTANCY (055) Marks
EXPECTED ANSWERS / VALUE POINTS
SECTION A
(Accounting for Partnership Firms and Companies)
1 | Q. Assertion (A): In partnership firm....
1 mark
Ans. (D) Assertion (A) is true, but Reason (R) is false.
2 | Q. Kewal Ltd. purchased....
1 mark
Ans. (D) 26,000
3 | Q. (a) Aditi, Sukriti and Niti.....
1 mark
Ans. (B) 345,000
OR
OR
Q. (b) Pawan, a partner was appointed.....
1 mark
Ans. (A) X75,000
4 | Q. Sarita Ltd. forfeited....
1 mark
Ans. (C) %350
5 | Q. (a) Ridhima and Kavita.......
1 mark

Ans. (C) 9,000 and 12,000 respectively




OR

OR
Q. (b) Ruchika and Harshita....
1 mark
Ans. (D) %810
Q. On dissolution of a partnership firm....
Ans. (B) Partner’s Capital Account 1 mark
Q. Isha and Manish....
Ans. (A)
Date Particulars Dr.Amount Cr.Amount
Q) )
2023 1 mark
April 1 Manish’s Capital A/c Dr. 30,000
To Isha’s Capital A/c 30,000
Q. (a) Aarayv Ltd. issued......
1 mark
Ans. (B) %1,00,000
OR
OR
Q. (b) Dove Ltd. issued......
1 mark
Ans. (C) 288,000
Q. (a) Kriti, Hina and Nidhi....
Ans. (C) 35,000 1 mark
OR
OR
Q. (b) Rohit, Udit and Mohit were.....
1 mark

Ans. (D) 220,000
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Q. Assertion (A): Securities Premium.....

Ans. (B) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct reason of Assertion 1 mark
(A).
11 | Q. Mahi, Ruhi and Ginni....
Ans. (A) 220,000 1 mark
Read the following hypothetical situation.....
12 | Q. Opening capital of Keshav was....
1 mark
Ans. (D) 252,000
13 | Q. Amount of interest to be charged....
1 mark
Ans. (C) %300
14 | Q. A partnership firm has.....
1 mark
Ans. (C)5
15 | Q. A, B and C were partners in a firm....
1 mark
(C) 21:14:15:10
16 | Q. (a) If all the forfeited shares are reissued....
Ans. (C) Capital Reserve Account 1 mark
OR OR
Q. (b) Raghav Ltd. forfeited..........
Ans. (A) 4 1 mark
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Q. Asha, Nisha and Hiten were partners........

Ans.

Books of Asha, Nisha and Hiten

Journal
Date | Particulars LF Dr. Cr.
Amount Amount
Q) %, 1%
Nisha’s Current A/c Dr. 3,000
To Asha’s Current A/c 2,000
To Hiten’s Current A/c 1,000
(Interest on capital omitted, now rectified)
Working Notes:
Table showing adjustment
Partners Dr. Interest on Cr. Profits Net Effect
Capital Dr. Cr.
@10% () ® €3] &)
Asha 20,000 18,000 - 2,000
1'%
Nisha 15,000 18,000 3,000 - 3
Hiten 10,000 9,000 - 1,000 3
45,000 45,000 3,000 3,000 marks
Note: In case an examinee has given only the journal entry correctly and has not shown the working,
full credit should be given
18 | Q. (a) Chavi Ltd. purchased.......
Ans.
Books of Chavi Ltd.
Journal
Date | Particulars LF | Dr.Amount | Cr.Amount
. ) )
(1)
Machinery A/c Dr. 1,60,000
To Neo Ltd.A/c 1,60,000
(Machinery purchased from Neo Ltd.) 1
(i)
Neo Ltd. A/c Dr. 1,60,000
To Equity Share Capital A/c 1,00,000
To Securities Premium A/c 10,000
To Bank A/c 50,000
(Issued 10,000 equity shares of R10 each at a premium
of 10% and bank draft in favour of Neo Ltd.)
Alternatively: 2




(i1) (a)
Neo Ltd. A/c Dr. 1,10,000
To Equity Share Capital A/c 1,00,000
To Securities Premium A/c 10,000
(Issued 10,000 equity shares of R10 each at a premium
of 10% to Neo Ltd.)
(b)
Neo Ltd. A/c Dr. 50,000
To Bank A/c 50,000
(Payment made to Neo Ltd. by a bank draft)
OR
Q. (b) On 1* October, 2022 Ninza Ltd.......
Ans.
Books of Ninza Ltd.
Journal
Date | Particulars LF | Dr.Amount | Cr.Amount
) ®)
2022 | Bank A/c Dr. 3,60,000
Oct.1 | To Debenture Application and Allotment A/c 3,60,000
(Application money received on 4,000, 8% Debentures
of 100 each)
” Debenture Application and Allotment A/c Dr. 3,60,000
Discount on issue of debentures A/c Dr. 40,000
To 8% Debentures A/c 4,00,000
(Allotment of 4,000, 8% Debentures of 100 each at a
discount of 10%)
2023 | Securities Premium A/c Dr. 40,000
Mar.31 | To Discount on issue of debentures A/c 40,000

(Discount on issue of debentures written off from
Securities Premium account)

marks

OR
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Q. (a) Mahesh, Ramesh and Naresh....

Ans.




Books of Mahesh, Ramesh and Naresh

Journal
Date | Particulars LF Dr. Cr.
Amount | Amount
?) Q)
2023
Apr.1 | Ramesh’s Capital A/c Dr. 6,000
Naresh’s Capital A/c Dr. 24,000
To Mahesh’s Capital A/c 30,000
(Adjustment made for General Reserve and debit balance
of Profit and loss Account on account of change in profit
sharing ratio among partners)
Working Notes:
(i) Items to be adjusted:
%
General reserve 3,60,000
Profit and Loss Account (Dr.)  (1.80.000)
1,80,000

(i) Calculation of sacrifice/ gain:
Sacrificing share= Old share- new share
Mahesh: 5/10- 1/3 =5/30 (sacrifice)
Ramesh: 3/10- 1/3 = -1/30 (gain)
Naresh: 2/10- 1/3 = -4/30 (gain)

Note: In case an examinee has given only the journal entry correctly and has not shown the working,
Sfull credit should be given

OR
Q. (b) Ravi, Guru, Mani and Sonu......

Ans.
Books of Ravi, Guru, Mani and Sonu

Journal
Date | Particulars LF | Dr.Amount | Cr.Amount
) )
2023
Jan.31 | Ravi’s Capital A/c Dr. 60,000
To Sonu’s Capital A/c 20,000
To Guru’s Capital A/c 20,000
To Mani’s Capital A/c 20,000
(Ravi compensated Sonu for his share of goodwill
and to Guru and Mani for the sacrifice made by them
on Sonu’s retirement)

1%
marks

1%
marks

marks

OR




Working Notes:

(11) Calculation of gaining share:

Gaining share= New share- Old share 1
Ravi: 5/7- 2/7 =3/7 (gain) =
Guru: 1/7- 2/7 = - 1/7 (sacrifice) ma3rks
Mani: 1/7- 2/7 = - 1/7 (sacrifice)
Q. A business earned an average profit of ...........
Ans.
Average Profits = %4,00,000
Capital Employed = Total Assets — Outside Liabilities
=320,00,000 — %5,00,000
=R15,00,000 ....oovininiiii Y
Normal Profits= Normal rate of return x Capital Employed 3
100 marks
=10/100 x %15,00,000
=RL,50,000.....cciiiiiii 2!

Super Profits = Average Profits — Normal Profits
=34,00,000 - %1,50,000

=22,50,000. ..o,

Goodwill = Super Profits x Number of years purchase
Goodwill =32,50,000 x 2

=25,00,000. .00t

Q. Madhav, Raghav and Purav were.......




Ans.

Books of Madhav, Raghav and Puray

Dr. Purav’s Capital A/c Cr.
Particulars Amount Particulars Amount
4 4
4
To Drawings A/c 10,000 | By Balance b/d 40,000 marks
To Purav’s Legal By General Reserve A/c 10,000
Representatives/ 75,400 2
Executors A/c 2 By Madhav’s Caal Alc 22,500
%
By Raghav’s Capiial Alc 7,500
%
By Interest on Cital Alc 2,400
By P& L Suspense A/c 3,000
85,400 85,400
22 | Q. On 1* April 2023, Khyati Ltd. was formed ......
Ans.
Khyati Ltd.
Balance Sheet as at --—--- (An Extract)
Particulars Note no. Amount (3)
I. Equity and Liabilities
1. Shareholders’ Funds 1
(a) Share Capital 1 13,48,000
Notes to Accounts :
Particulars Amount (?)
1. Share Capital
Authorised Capital 1
2,00,000 equity shares of 10 each 20,00,000
Issued capital 1
1,80,000 equity shares of 10 each 18,00,000
Subscribed Capital
Subscribed but not fully paid
1,64,000 equity shares of 10 each, X8 called up 13,12,000 1
Add Forfeited Shares Account 36,000
13.48.,000 =
4
marks

10
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Q. (a) Murari Ltd. invited applications....

Ans.
Books of Murari Ltd.
Journal
Date Particulars LF Dr. Cr.
Amount Amount
() (]
Bank A/c Dr. 7,00,000
To Equity Share Application A/c 7,00,000
(Application money received on 1,40,000 shares)
Equity Share Application A/c Dr. 7,00,000
To Equity Share Capital A/c 4,00,000
To Equity Share Allotment A/c 3,00,000
(Application money transferred to share capital account
and share allotment account)
Equity Share Allotment A/c Dr. 7,20,000
To Equity Share Capital A/c 4,00,000
To Securities Premium A/c 3,20,000
( Amount due on allotment)
Bank A/c Dr. 4,15,800
Calls 1n arrears A/c Dr. 4,200
To Equity Share allotment A/c 4,20,000
(Allotment money received except on 800 shares)
Equity Share Capital A/c Dr. 8,000
Securities Premium A/c Dr. 3,200
To Share forfeiture A/c 7,000
To Calls in arrears A/c 4,200
(800 shares forfeited for non payment of allotment
money)
OR
Q. (b) Kavya Ltd. invited applications .........

1%

1%

marks

OR

11




Ans.

(Gain on reissue of forfeited shares transferred to Capital
Reserve A/c)

Books of Kavya Ltd.
Journal
Date Particulars LF Dr. Cr.
Amount Amount
) )
Bank A/c Dr. 2,31,000
To Share Application and Allotment A/c 2,31,000
(Application money received on 33,000 shares)
Share Application and Allotment A/c Dr. 2,31,000
To Share Capital A/c 2,10,000
To Bank A/c 21,000
(Application money transferred to share capital account
and balance refunded)
Share First and final call A/c Dr. 1,50,000
To Equity Share Capital A/c 90,000
To Securities Premium A/c 60,000
( Amount due on first and final call)
Bank A/c Dr. 1,47,500
Calls 1n arrears A/c Dr. 2,500
To Share First and final call A/c 1,50,000
(First and final call received except on 500 shares)
Share Capital A/c Dr. 5,000
Securities Premium A/c Dr. 1,000
To Share forfeiture A/c 3,500
To Calls in arrears A/c 2,500
(500 shares forfeited for non payment of first and final
call)
Bank A/c Dr. 4,000
Share forfeiture A/c Dr. 1,000
To Share Capital A/c 5,000
(Forfeited shares reissued as fully paid for X8 per share)
Share Forfeiture A/c Dr. 2,500
To Capital Reserve A/c 2,500

¥z

¥z

Il =

marks
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Q. (a) Arnav, Bhavi and Chavi were in ,,,,,,,

12




Ans.

Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount
) &
To Provision for doubtful 10,000 | By Plant and Machinery A/c |4 1,30,000
debts A/c Y4
To Profit transferred to
Partners’ Capital A/c’s: 4
Arnav 60,000
Bhavi 40,000 1,20,000
Chavi 20,000
1,30,000 1,30,000
Dr. Partners’ Capital Accounts Cr.
Particulars Arnav Bhavi Chavi Particulars Arnav Bhavi Chavi
4 4 4 4 4 4
To Chavi’s 48,000 32,000 - | By Balance b/d 1,80,000 | 1,60,000 | 1,00,000
Capital A/c E
By Revaluation
To Profit and 15,000 10,000 5,000 | A/c E 60,000 40,000 20,000
Loss A/c
By Arnav’s
To Cash A/c [ - - | 1,95,000 | Capital A/c [4 - - 48,000
To Balance c/d 3,18,000 | 2,12,000 - | By Bhavi’s
Y Capital A/c ) ) 32,000
By Cash Alc |4 1,41,000 54,000 -
3,81,000 | 2,54,000 | 2,00,000 3,81,000 | 2,54,000 | 2,00,000
OR
Q. (b) Divya and Ekta were partners in a firm....
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount Particulars Amount
) (&9
To Profit transferred to By Land and Building A/c 4 2,12,000
Partners’ Capital A/c’s: 4
Divya 1,80,000 By Provision for doubtful debts A/c 8,000
Ekta 60,000 2,40,000
By Creditors A/c s 20,000
2,40,000 2,40,000

1%

4%

marks

OR
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Dr. Partners’ Capital Accounts Cr.
Particulars Divya Ekta Sona Particulars Divya Ekta Sona
4 4 4 4 4 4
To Partners 5,65,000 | 5,55,000 - | By Balance b/d | 10,00,000 | 7,00,000 -
Current A/c’s 2
By Cash A/c ; - | 4,00,000
Z
To Balance 9,00,000 3,00,000 | 4,00,000 By Revaluation
od. [ Ae [ 1,80,000 | 60,000 ;
4
By General
Reserve A/c 2,40,000 80,000 -
&
By Premium for
Goodwill A/c 45,000 15,000
5
14,65,000 | 8,55,000 | 4,00,000 14,65,000 | 8,55,000 | 4.00,000 6
marks
25 | Q. Pass the necessary journal entries....
Ans.
Books of Abhay and Mansi
Journal
Date Particulars L.F | Dr. Amount | Cr. Amount
4 4
(i) Abhay’s Capital A/c Dr. 56,000
To Realisation A/c 56,000
(Stock taken over by Abhay)
(i1) Mansi’s Capital A/c Dr. 3,600
To Realisation A/c 3,600
(O1d computer written off was taken over by
Mansi)
(ii1) Realisation A/c Dr. 5,000
To Bank/ Cash A/c 5,000
(Unrecorded liabilities settled) Ix6
(iv) Realisation A/c Dr. 8,000 -
To Abhay’s Capital A/c 8,000
(Expenses of realisation paid by Abhay) 6
marks
(v) Bank/ Cash A/c Dr. 6,000
To Realisation A/c 6,000
(Investment realised 40%)
(vi) Realisation A/c Dr. 24,000
To Abhay’s Capital A/c 16,000
To Mansi’s Capital A/c 8,000

(Profit on realisation distributed between
Abhay and Mansi in their profit sharing ratio)
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26

Q. Pass journal entries relating to issue of debentures...

Ans.
Books of Star Ltd.
Journal
Date | Particulars LF Dr. Cr.
Amount | Amount
) £9)
(1)
Bank A/c Dr. 45,00,000
To Debenture Application and Allotment A/c 45,00,000
(Debenture Application money received)
Debenture Application and Allotment A/c. Dr. 45,00,000
Discount on issue of Debentures A/c Dr. 5,00,000
To 9% Debentures A/c 50,00,000
(Debenture Application money transferred to Debentures
account)
(ii)
Bank A/c Dr. 6,30,000
To Debenture Application and Allotment A/c 6,30,000
(Debenture Application money received)
Debenture Application and Allotment A/c Dr. 6,30,000
Loss on issue of Debentures A/c Dr. 60,000
To 9% Debentures A/c 6,00,000
To Securities Premium A/c 30,000
To Premium on redemption of Debentures A/c 60,000
(Debenture Application money transferred to Debentures
and Securities Premium account and provision for
premium on redemption of debentures made)
(i)
Bank A/c Dr. 4,00,000
To Debenture Application and Allotment A/c 4,00,000
(Debenture Application money received)
Debenture Application and Allotment A/c Dr. 4,00,000
Loss on issue of Debentures A/c Dr. 20,000
To 10% Debentures A/c 4,00,000
To Premium on redemption of Debentures A/c 20,000

(Debenture Application money transferred to Debentures
and provision for premium on redemption of debentures
made)

1x6

marks
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PART B
OPTION 1
(Analysis of Financial Statements)

27 | Q. Which of the following transactions......
1 mark
Ans. (C) Received from debtors 374,000
28 | Q. (a) Shyam Sunder Ltd.......
Ans. (D) Operating activity 1 mark
OR OR
Q. (b) Tax paid during the year.....
1 mark
Ans. (A) 230,000
29 | Q. Which of the following is not a tool.....
1 mark
Ans. (C) Statement of Profit & Loss
30 | Q. (a) Total assets-X3,00,000......
1 mark
Ans. (B) 2:1
OR
OR
Q. (b) When Current Ratio is 4:1..........
1 mark
Ans. (A) 322,500
31 | Q. Under which major heads ......
Ans.
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S.No. | Items Heads Sub Heads

(1) Computer Software | Non Current Assets | Fixed Assets/ Property, Plant

and Equipment and 72X 6
Intangible assets _
-Intangible Assets 3
marks
(i1) Unclaimed dividend | Current Liabilities | Other Current Liabilities
(ii1)) | Loose Tools Current Assets Inventories
32 | Q. Calculate Current Ratio from........
Ans. Current Assets = Inventories + Trade Receivables + Advance Tax + Cash and Cash
Equivalents
=31,00,000 + X1,20,000 + 224,000 + 356,000
=23,00,000 ...
Current Liabilities = Trade Payables + Short Term borrowings
=360,000 + 340,000 3
marks
=Z1,00,000 ...
Current Ratio = Current assets/ Current Liabilities .............c.ooooviiiiiiiiiia.. Z
=3,00,000/ %1,00,000
i 11 P Vs
33 | Q. (a) From the following Statement of Profit and Loss ...............

17




Ans.

Shikha Ltd.

Comparative Statement of Profit and Loss
for the year ended March 31, 2023

Q. (b) From the following information.....

Ans.

A Ltd. and B Ltd.
Common Size Statement of Profit and Loss
for the year ended 31°' March 2023

Particulars 2021-22 2022-23 Absolute %
®) ®) Increase/ Increase/
Decrease Decrease
)
I. Revenue from Operations  [V% 20,00,000 32,00,000 12,00,000 60
II. Expenses:
Employee benefit expenses [V 6,00,000 9,60,000 3,60,000 60
Other expenses L, 4,00,000 6,40,000 2,40,000 60
Total Expenses 10,00,000 16,00,000 6,00,000 60
I11. Profit before Tax (I —II) 10,00,000 16,00,000 6,00,000 60
IV. Less : Tax @ 50% 5,00,000 8,00,000 3,00,000 60
V. Profit after Tax (Il - IV) 5,00,000 8,00,000 3,00,000 60
OR

Particulars Absolute Amounts % of Revenue
from operations
A Ltd. B Ltd. A Ltd. B Ltd.

) ) ) )
Revenue from Operations 20,00,000 10,00,000 100 100
Other Income s 3,00,000 80,000 15 8
Total Revenue Y 23,00,000 10,880,000 115 108
Less: Expenses 10,40,000 4,80,000 52 48
Profit before Tax 12,60,000 6,00,000 63 60
Less : Tax @ 40% 5 5,04,000 2,40,000 25.2 24
Profit after Tax 2 7,56,000 3,60,000 37.8 36

marks

OR

marks
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Alternate Answer

Common Size Statement of Profit and Loss
for the year ended 31°' March 2023

A Ltd. and B Ltd.

Particulars Absolute % of Absolute % of
Amounts Revenue Amounts Revenue
from from
A Ltd. operations B Lt operations
) A Lid. ?) B Ltd.
Revenue from Operations /4 20,00,000 100 10,00,000 100
Other Income Y5 3,00,000 15 80,000 8 4
marks
Total Revenue 23,00,000 115 10,80,000 108
Less: Expenses Vs 10,40,000 52 4,80,000 48
Profit before Tax 12,60,000 63 6,00,000 60
Less : Tax @ 40% 5 5,04,000 25.2 2,40,000 24
Profit after Tax Vs 7,56,000 37.8 3,60,000 36
34 | Q. From the following Balance Sheet of Yogita Ltd......
Ans.
Calculation of Cash Flows from Investing Activities
for the year ended 31" March 2023
Particulars ® ®
Purchase of Machinery V2 (3,80,000)
Sale of Machinery 42,000 2
Net Cash used in Investing Activities ¥ (3,38,000)
Dr. Plant and Machinery A/c Cr.
Particulars Amount Particulars Amount
® ®)
To Balance b/d 4,70,000 | By Bank /Cash A/c 42,000
To Bank/ Cash A/c 3,80,000 | By Accumulated Depreciation A/c 15,000
(Balancing figure) By Statement of Profit & Loss 3,000 1
By balance c/d 7,90,000 mark
8,50,000 8,50,000
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Dr. Accumulated Depreciation A/c Cr.
Particulars Amount Particulars Amount
® ®)
To Plant and Machinery A/c 15,000 | By Balance b/d 70,000
To Statement of Profit & By Depreciation A/c 50,000
Loss 15,000
To balance C/d 907000
1,20,000 1,20,000
Alternate Answer
Calculation of Cash Flows from Investing Activities
for the year ended 31" March 2023
Particulars ® ®
Purchase of Machinery s (3,95,000)
Sale of Machinery 42,000
Net Cash used in Investing Activities 2 (3,53,000)
Dr. Plant and Machinery A/c Cr.
Particulars Amount Particulars Amount
® ®)
To Balance b/d 4,70,000 | By Bank A/c 42,000
To Cash A/c 3,95,000 | By Accumulated Depreciation A/c 30,000
(Balancing figure) By Statement of Profit & Loss 3,000
By Balance c/d 7,90,000
8,65.000 8,65.000
Dr. Accumulated Depreciation A/c Cr.
Particulars Amount Particulars Amount
® ®)
To Plant and Machinery A/c 30,000 | By Balance b/d 70,000
To balance c/d 90,000 | By Depreciation A/c 50,000
1,20,000 1,20,000

No
marks

marks

mark

No
marks
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Calculation of Cash Flows from Financing Activities
for the year ended 31" March 2023

Particulars €3] Q)
3
Issue of Share Capital 2,00,000 marks
Bank Overdraft raised 1,00,000
Bank loan repaid (70,000)
Interest on bank loan paid 15,000 3:3
Net Cash Inflows from Financing Activities Z 2,15,000 =
6
marks
PART B
OPTION 11
(Computerised Accounting)
27 | Q. (a) Depreciation is generated from which of the following Accounting information system?
1 mark
Ans. (D) Fixed assets accounting sub-system
OR OR
Q. (b) Which type of software package is suitable for an organisation................
1 mark
Ans. (D) Generic
28 | Q. “A value or function or an arithmetic expression is recorded in R
1 mark
Ans. (D) Cell
29 | Q. (a) Which of the following is not a limitation of computerised accounting system?
Ans. (C) Data is made available to everybody 1 mark
OR OR
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Q. (b) To safeguard assets and optimise the use of resources a business

Ans. (C) Keeps internal controls

1 mark

30

Q. Which chart has depth axis?

Ans. (B) 3D chart

1 mark

31

Q. Explain various ‘Data tables’ used in Pivot Table.

Ans. There are two types of data tables which are used in Pivot table:

(1) One-variable data table:

The table in which formula used must refer to an input cell. The input cell is a cell used by Excel in which
each input value from a data table is substituted.

(i1) Two-variable data table:

Where two input two cells are used to generate a new table that table is known as two variable data table.

These are required for the analysis of information and to create a tabulation summary of data in which
heading can subsequently moved to give different views of the data.

marks

32

Q. How can a#DIV/0 error be corrected?

Ans. To correct #DIV/0! Error

Following steps can be followed:

Change the call reference to another cell

Enter a value other than zero in the cell used as a divisor

Enter the value #N/A into the cell referenced as the divisor, which changes the result of the formula to
#N/A from # DIV/0! to denote that the divisor value is not available

Prevent the error value from displaying by using IF worksheet function

marks

33

Q. (a) List the points of nomenclature used in Excel for charts/ graphs.
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Ans. The nomenclature used in Excel for charts is as follows:

(1) The chart area

(i1) The plot area covering the plot of values in the selected type of chart

(ii1) The data points

(iv) The Horizontal (Base Values e.g. Category) and Vertical (Derived Values) Axes.
(v) The legend to specify distinguishing criteria in case of multiple lines pies, bars etc.
(vi) Chart and Axes Titles

(vii) Data labels

OR

Q. (b) Explain the steps to define ‘Print area’ using Dialog box.

Ans. By default, Excel prints all data on the current worksheet but for specific formatted print, we have to
define print area from page set up dialog box or print area command from page layout option of ribbon
following are the steps to define Print area using Dialog box option:

(1) Select the page layout command tab on the ribbon

(i) In the page set up group click page set up. The page set up dialog box appears

(ii1) Select the sheet tab

(iv) In the print area text box type the range of cells you want to print or ( to select the area
»  Click to collapse Dialog
= Select the desired range of cells

= (Click restore the Dialog.

(v) Click Ok and the print area is defined

marks

OR

marks

34

Q. From the given ‘VLOOKUP’ syntax find out the error and its reason using the worksheet
g y

Ans.
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(1) Error #N/A

Reason Value being looked up is not in array range.

(i1) #NUM! Error

Reason - Negative value is square root functions is invalid.
(iii) # N/A Error

Reason lookup value is less than the array range provided.

(iv) #REF! Error

Reason Column value being searched is greater than array range provided.

(v) #Value! Error
Reason Value being searched is not available as column does not exist.
(vi) #DIV/0! Error

Reason Value searched is being divided by zero.

%
mark
for
identi-
fying
the
error
+
1/2
mark
for its
reason
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